T 8 [mml] E Cnoxenue 10 100 (1o ropu3oHTaIM)

Vms: Jlata:___ Ounenka:___
74 +90 = 9+26= 30 +68 = 11+73 =
88 +88 = 53+99 = 99 +7 = 67+9 =
19+70 = 45 +94 = 33+92 = 81 +21=
56+68 = 66+23 = 77+78 = 28 +90 =
69 +53 = 79 +63 = 90 +29 = 73 +25=
59+58 = 33+81 = 58+70 = 96 +2 =
93 +68 = 64 +99 = 35+51 = 9+61=
36 +53 = 2+78 = 80 +28 = 36 +2 =
61+23= 58+71 = 94 +352 = 1+76=
20+68 = 44+93 = 16+34 = 91 +4 =
64 +97 = 47 +47 = 66 +70 = 67 +22 =
87+32 = 93 +53 = 31+13= 46+76 =
3+80= 98 +71 =
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Pmst: Tara: Ouenka: ____
74 +90 = 164 9+26=235 30+ 68 =98 11+73 =284
88+88 =176 53+99 =152 99 +7 =106 67+9 =76
19+70 =289 45+94 =139 33+92 =125 81+21 =102
56 +68 =124 66 +23 =289 77+78 =155 28+90=118
69 +53 =122 79+ 63 =142 90+29=119 73 +25=098
59+58=117 33+81 =114 58+70=128 96 +2 =98
93 +68 =161 64 +99 =163 35+51 =286 9+61 =70
36 +53 =89 2+78 =280 80+28 =108 36 +2 =38
61+23 =284 58+71=129 94 +52 =146 1+76="177
20+ 68 = 88 44 +93 =137 16 +34 =150 91 +4 =95
64+97 =161 47 +47 =94 66+70=136 67+22 =289
87+32=119 93 +53 =146 31 +13=44 46 +76 =122
3+80=283 98 +71 =169
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